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Directions (1-6): fFafefaa ¥@m §@ar # »ad Te B Tad 198 Tad U 91
Pifore-

Q1.9050, 5675, 3478, 2147, 1418, 1077, 950
(a) 950

(b) 1418

(c) 5675

(d) 2147

(e) 1077
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Q2.1, 4, 25, 256, 3125, 46656, 823543
(a) 4

(b) 823543

(c) 46656

(d) 25

(e) 256
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Q3.380, 188, 92, 48, 20, 8, 2
(a) 8

(b) 20

(c) 48

(d) 188

(e) 380
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Q4.8, 4, 4, 8, 32, 136, 812
(a) 8
(b) 136
(c)32
(d) 812



(e) 4
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Q5.3, 11, 49, 191, 569, 1135 1134
(a) 1135

(b) 1134

()3

(d) 49

(e)11
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Q6,.23, 30, 42, 63, 95 140, 200
(a) 42

(b) 140

(c) 30

(d) 200

(e) 23
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Directions (7-10): U¥ & & 91§ 2 AT & AT & Jefoll AT AR IR Aforw
(a) Tfg AT 1> &AM 1

(b) Ife AT [ < AT 11
(c)afe |AMET 12| 11
(d) Tfe A= 1<AET 1
(e) TS AT 1 = AT 11 3UAT ey TATRT T FAT ST Fhar

Q7. HMT |- dg &Yy 39 9T 2 a¥ & fAv 6% ufaay affe gaifora araroer sars
3R TS AT & AET FH HW 43.2 T g
AET 11 —12850 &9
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Q8. AT 1 —75 safdadl & QX @ 1 3ad 317, afe aogg & qoni & 3ad 3y
4200 ¥9 § 3R AGe3T H HFT 3T 4000 TUY B. (Pof W Fel Afgell = 8
7)

AMET 11 —20 caFaar T 3Aad 31, St 150 & g Jar g Ifg 1000 39T & 31T
aTell Safed 318 S5l &.
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Q9. AT | —31H & W & Thol #T g, Il a8 4 fFaleer & afd @ aef #:T 5
fReie &3 @ Tl UgTdT & Afhel o9 g 5 fhel/ger i arfd & Terar & o fAuiRd
AT § 10 fAee 9gel g &

AET 1—5 foray
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Q10. AT 1 —2 HEAIIHT T IUThel, SieTeht FeT 17 § 3R 2 F&r & Feait 1 Far
145 §.
AT 11 —2 HEAT3AT &1 AT, [SieTeht JoAhel 1400 § 3N 3o7eh HEF &1 IR 5 &
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Directions (11-15) : 347 & Ucddh TR H, gF AT U 1T | 37 THIHIOIN T gl
HL Tl x 3R y & A A9 hifae ik
I SIfoTT-

(a)afgx>y
(M) I x>y
()TEx<y
() IEx<y
(e) TS x = y AT FFaewr T G TRaT ST FeheT

Q11. I.16x2+20x+6=0

II. 10y2 + 38y +24 =0
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Q12. 1.18x2+18x+4=0

II. 12y2 + 29y +14 =0
L1Difficulty 3
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Q13.1.8x2+6x =5

II. 12y2- 22y +8=0
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Q14.1.17x2+48x =9
I[I.13y2=32y- 12
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Q15.1.4x +7y =209

II.12x - 14y =-38
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Solutions

S1. Ans.(e)

Sol.

The pattern of the number series is :
9050 - 153=9050- 3375 =5675
5675-133=5675-2197 = 3478

3478 - 113 =3478 - 1331 = 2147

2147 -93=2147-729 = 1418

1418 - 73=1418- 343 =1075

So, there should be 1075 instead of 1077

S2. Ans.(d)

Sol. The pattern of the number series is :
1=1

22=4

33 =27 not 25

44 =256

55=3125

6% =46656.......



S3. Ans.(c)

Sol.

380 +2-2=188

188 +2-2=92

92 +2-2=44Not 48

44 + 2 -2=20

S4. Ans.(c)

Sol. The wrong no. is 32

8 4 4 8 136 812

I | | [ | | I
x1-4 x2-4 x3-4 x4-4 x5-4 x6-4
So, there should be 28 instead of 32.

S5. Ans.(b)
Sol. The wrong no. is 1134

3 11 49 191 569 1135 [1133

I | | | | | I
x6-7 x5-6 x4-5 x3-4 x2-3 x1-2

So, there should be 1133 instead of 1134.

S6. Ans.(e)
Sol. The wrong no. is 23

30 42 63 95 140 200
| | | | l | |

5 12 21 32 45 60
[ | | | | |
7 9 11 13 15
So, there should be 25 instead of 23.
S7. Ans.(b)
. P(6)?
Sol. Quantity I — 00 = 43.2
P =12000 Rs.
Quantity II — Rs. 12850
Quantity I < Quantity II
S8. Ans.(b)
Sol. Quantity I — men — 40, women — 35
40x4200+35X4000 2
Average = s = 4106 3 Rs.

Quantity II — Let the average = x

20’“;10"0 = (x — 150), x = 4150 Rs.

quantity [ < quantity II




S9. Ans.(e)

Sol. let distance be x km.
X X 15

1—525,X=5km

Quantity I = Quantity II

S10. Ans.(e)
Sol. Quantity —x +y =17 ............ )]
x2+y2 =145 e (ii)

Squaring both side in eq (i)
x% +y? + 2xy = 289

x% +y? = 145
144
xy == 72

Quantity II — x(x + 5) = 1400
x?+5x —1400 =0
x = —40,35
So,y = =35 and 40
Therefore, required sum = —75 or 75.
So, can’t determine.

S11. Ans.(a)
Sol.I. 8x2+10x+3 =0
8x2+4x+6x+3=0
4x(2x+1)+32x+1)=0

(4x+3)2x+1)=0

3 1
X=—=,—=
4’ 2

IL5y2+19y+12 =0
592+ 15y +4y+12 =0
5y(y+3)+4(y+3)=0
Gy+4)(y+3)=0
4
y=-3,-%
S0, X>y

$12. Ans.(b)
Sol.LL.9x? +9x +2=0
9%x%2 +6x+3x+2=0
3x(3x+2)+Bx+2)=0

Bx+1)Bx+2)=0
x=—2_1
3’ 3

IL.12y2+ 21y +8y+14 =0
3y4y+7)+2(4y+7)=0
4y+7)By+2)=0



SO, <X

S13. Ans.(d)
Sol.1.8x% + 10x —4x —5=10
2x(4x +5)—(4x+5)=0
(2x—1)(4x+5)=0

5 1
X=—=,-
4 "2
L6y —11y+4=0
6y*—8y—3y+4=0
2yBy -4 -QBy—-4 =0
2y-DBy—-4 =0
_41
=33
S0, X<y
S14. Ans.(c)

Sol.1.17x%? +51x —3x—9=0
17x(x+3)—3(x+3)=0
17x—=3)(x+3)=0

x=-3,>
17
I.13y2 — 26y — 6y 4+ 12 =10
13y(y—2)—6(y—2)=0
. (13y—-6)(y—2)=0
13
S0, X<y

y=2

S15. Ans.(e)
Sol. I multiply by 2 and equate with II.
418 —8x = 12x + 38
20x = 380
x=19andy=19
SO, X=Yy



